Opérations avec deux fractions mixtes (J)

Nom: Date: Note:

Calculez chaque résultat.

1 5§—3§ =
2 Sg+31—52=
3 lgxsi =
4 5%—1%=
5 5§+11—20=
6 3;—(8)+Sg=
7 5%+1§ =
8 5;—1%=
9 5%+2% =
10. S%XI% =
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Opérations avec deux fractions mixtes (J) Réponses

Nom: Date: Note:

Calculez chaque résultat.

. 6.8 _ 46 35 _ 414 280 _ 134 _ 67 _12

78 "9 T8 9 72 72 72 36 36

, 50,2 2.4 51 12 612 68 _ 27

79 712 7 9 T 12 9 741 369 0 41 0 41
4 1 10 21 210 35

P AgXSy =Xy = o T 4 T8

\ Sﬂ_lg_g_g_ 646_204_442_@_35_0
6 19 6 19 114 114 114 57 = 57

552_12_17,12_17)(10_170_85_413
37710 3 10 3712 © 36 18 18
2076 20 6 20734 ~ 680 170

o4, 5 3 12 238 72310 155 _ 8
6 7 6 7 42 42 T 42 T 21 0 21

. 5&_12_§_§_468_147_321_@_3§
7 12 7 12 84 84 ~ 84 = 28 = 728

. Sz+2§ _£+2_4z3+168_591_g_83
8 "9 8 9 72 72 72 24 T 24

o sixql - %7 0 322 16l .26

79 6 976 54 27 T 27
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